2004/4/13

a1l ZXF2FBe 03.10.14.28 hFIFELE28A
ERREAFETTIN? B M THERHER?
20
20
15
10 10
5 |
0 1 LN D L VB =
0 L ] == [ ] BRI 5% BR25 5 e
5% ErEmEnSERE | Lhbrtiamy | EPPPENAER s FEZR 15 3 4
R 16 7 2 i 2
BERHPTHRUVERBE? TRERIFETTH?
20 20
15 15
10 + 10
5 L
0 S I
BH15H BH2HH e 0 | —  —
‘D%‘_:EH 6 5 16 . &Bsggb\oé: é:%o&ll{\,l,\zt; t%bgf\b\zl; B
FEXT 15 6 2 1 2
BIRANDHEFEL? BIROBEG?
10 10
8 | 81
6 61
4t 4L
ol ] ol
0 - O = s =5 0 : =T — T =
N CELMEVAIE | EBBELNAR | EBOMEVAE | 4\ N CELMEVAE] EELELNAR [EELMEVEE] 5x
FATS T HrTg TW T TR | FRTLEL FATS T 3rng i Eaclml | oA CHEL
O %501 8 6 8 3 2 O %501 6 5 8 4 4
BREEIEEISLTTH? BEONRRIHLIF-TTHM?
25 15
20
15 10 ¢
10 r
5 [
5 L
° Bivofe  |EBEREVRIE| EBLELNAM | EBEMEVAIE| @ pp ot 0 EBLMENAIE| EBLEBN AL |EBLMENAIE
BEME | EE st B maapor | BEEMRE Lot | S - SBLEVAE Lo
[=EX7) 20 7 0 1 0 O %501 5 12 8 3 0
BEONEXBBTEELEL? FECO&SHBECBMUI-NTTH?
20 20
15 15 —
10 10
5+ 5 |
0 mgpcat |CERMEVAR| ELLELVAML | EEMEVAR rmp a0 0 EELMENZR | EBbEBLNR| EHLMENZ
RO | mgoar ) BgCE AR T e T BMLEL | s A EsmLrcy | BMLEEL
=E3IL 10 16 1 1 0 FEZT 18 8 2 0 0
BHEBITONTLY NI EF B S TRRESEBS K312
YELfh?
15
10
5 L
0 [ 1 I I
Sms ELELMNEVZIE| EBLELLAA |EBDhEVRIE -
83 385 s
=ESZ0 7 12 6 1 2




